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Fig. S1 FTIR spectrum of 3,4-dihydro-2H-3-propyl-1,3-benzoxazine.

Absorbance

a Cc e
O/\N/\d/ e-0.86
b a-4.81
b-3.92
c-2.59
d-1.50
“.“ A | A |
7 6 5 4 3 2 1
Chemical Shift (ppm)

Fig. S2 'TH NMR spectrum of 3,4-dihydro-2H-3-propyl-1,3-benzoxazine.
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Fig. S3 13C NMR spectrum of 3,4-dihydro-2H-3-propyl-1,3-benzoxazine.
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(a) 60 °C, (b) 70 °C, (c) 80 °C, (d) 90 °C.

Fig. S4 GC spectra of the reaction of n-propylamine, phenol and aqueous
formaldehyde with different time at different temperatures.
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Fig. S5 Concentrations of benzoxazine versus reaction time at (a) 60 °C, (b) 70 °C, (c)

80 °C, (d) 90 °C.
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Fig. S6 Concentrations of phenol versus reaction time at (a) 60 °C, (b) 70 °C, (c) 80

°C, (d) 90 °C.




